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Cut out the cards.  
Sort them into groups to create a full worked solution to the five equations.
[bookmark: _GoBack]One solution is missing.  You will need to work out this solution too.

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


Note: It is easy to solve the equations by matching the same letters!  The point of this is to understand what a full solution to an equation looks like.



Some problems

Emma is solving the equation  
She writes

Do you agree?  Explain your answer.



Look at these two equations.  What is the same and what is different?

		



Mike is three years older than Rachel.  The sum of their ages is 31.
Using    as the age of Rachel, write down a two-step equation to describe this information.
Solve the equation.  Find Mike’s age.



Write digits in each box to make an equation with a solution  

	
	
	+
	7
	=
	6
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Balancing: Act I
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One


 


1.


 


3


??


+


1


=


22


 


2.


 


5


??


+


3


=


48


 


3.


 


5


+


2


??


=


35


 


4.


 


4


??


-


3


=


17


 


5.


 


??


3


+


2


=


4


 


6.


 


??


+


2


3


=


4


 


7.


 


7


??


+


3


=


45


 


8.


 


1


+


4


??


=


21


 


9.


 


5


??


-


23


=


27


 


10.


 


??


12


-


1


=


4


 


11.


 


9


??


+


1


=


100


 


12.


 


3


??


5


=


6


 


 


Two


 


1.


 


18


=


2


??


-


4


 


2.


 


31


=


5


??


+


1


 


3.


 


40


=


4


+


4


??


 


4.


 


19


=


2


??


-


3


 


5.


 


10


=


??


4


+


5


 


6.


 


10


=


??


+


5


4


 


7.


 


31


=


15


+


8


??


 


8.


 


32


=


5


??


+


7


 


9.


 


75


=


10


??


-


25


 


10.


 


8


=


2


??


3


 


11.


 


1


=


??


-


6


4


 


12.


 


3


=


??


+


7


5


 


 


Three


 


1.


 


7


??


+


1


=


4


 


2.


 


5


??


-


1


=


2


 


3.


 


6


??


+


2


=


4


 


4.


 


8


??


+


4


=


8


 


5.


 


4


h


-


1


=


8


 


6.


 


3


??


+


1


=


20


 


7.


 


4


??


+


2


=


12


 


8.


 


8


??


-


2


=


12


 


9.


 


14


??


+


6


=


54


 


 


Four


 


1.


 


3


??


-


4


=


1


2


 


2.


 


2


??


-


3


=


1


2


 


3.


 


5


??


+


2


=


7


2


 


4.


 


??


3


-


2


=


1


2


 


5.


 


3


??


-


1


=


3


5


 


6.


 


5


??


-


3


=


2


5


 


7.


 


3


??


+


2


5


=


4


5


 


8.


 


??


3


-


6


=


1


5


 


9.


 


??


4


-


2


=


2


3


 


 


 


 


 




Balancing: Act I I       Page  1   of  3     © 2018     One   1.   3 ?? + 1 = 22   2.   5 ?? + 3 = 48   3.   5 + 2 ?? = 35   4.   4 ?? - 3 = 17   5.   ?? 3 + 2 = 4   6.   ?? + 2 3 = 4   7.   7 ?? + 3 = 45   8.   1 + 4 ?? = 21   9.   5 ?? - 23 = 27   10.   ?? 12 - 1 = 4   11.   9 ?? + 1 = 100   12.   3 ?? 5 = 6     Two   1.   18 = 2 ?? - 4   2.   31 = 5 ?? + 1   3.   40 = 4 + 4 ??   4.   19 = 2 ?? - 3   5.   10 = ?? 4 + 5   6.   10 = ?? + 5 4   7.   31 = 15 + 8 ??   8.   32 = 5 ?? + 7   9.   75 = 10 ?? - 25   10.   8 = 2 ?? 3   11.   1 = ?? - 6 4   12.   3 = ?? + 7 5     Three   1.   7 ?? + 1 = 4   2.   5 ?? - 1 = 2   3.   6 ?? + 2 = 4   4.   8 ?? + 4 = 8   5.   4 h - 1 = 8   6.   3 ?? + 1 = 20   7.   4 ?? + 2 = 12   8.   8 ?? - 2 = 12   9.   14 ?? + 6 = 54     Four   1.   3 ?? - 4 = 1 2   2.   2 ?? - 3 = 1 2   3.   5 ?? + 2 = 7 2   4.   ?? 3 - 2 = 1 2   5.   3 ?? - 1 = 3 5   6.   5 ?? - 3 = 2 5   7.   3 ?? + 2 5 = 4 5   8.   ?? 3 - 6 = 1 5   9.   ?? 4 - 2 = 2 3          

